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What is the

Vitamin ‘A’ ?

chemical name of

(A) Cholecalciferol

(B) Tocopherol

(C) Retinol

(D) Thiamine

Which of the following is the best source
of Vitamin ‘E’ ?

(A) Soybean

(B) Wheat

(C) Linseed

(D) Groundnut

Vitamin deficiency is called :

(A) Glycolysis

(B) Avitaminosis

(C) Hydrolysis

(D) Vitamine

Deficiency of which of the following

vitamin does not lead to the formation of

blood in humans ?
(A) Vitamin A
(B) VitaminC
(C) VitaminE

(D) Vitamin K
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5. faeIfis &1, & 3R fb 9 ¥ 9Fd § 2 5. Vitamin B; is known by what other

name ?
(A)  IRHE (A) Thiamine
(B) NIgdIHIf (B) Riboflavin
(C) e (C) Biotin
(D) wiferd TS (D) Folic acid
6. CgHgOg VA [ facTae @1 8 ? 6.  CgHgOg molecular formula belogns to

which Vitamin ?

(A) fderi®= D (A) Vitamin D
(B) fdeiff+ E (B) Vitamin E
(C) faerfd K (C) Vitamin K
(D) fdarfd= C (D) Vitamin C
7. faeftm 7 @1 e Tm e 7. The chemical name of Vitamin ‘E’ is :
(A) et (A) Retinol
(B) UTTHIH (B) Thiamine
(C) CTIPIhRIA (C) Tocopherol
(D) R (D) Niacin
8. UICH & 4= &N T : 8. The main function of protein is :
(A) Sl Y& IRl (A) To provide energy
(B) TRIRG gig HT (B) Physical growth
(C) ®IR@T M B (C) Cell formation
(D) Sugad FI (D) Al of the above
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10.

11.

12.

What color precipitate is obtained when

glucose is heated with Fehling’s

solution ?

(A) Yellow
(B)
(©)

(D)

Black
Blue

Red

Which of the following is not a reducing

sugar ?

(A) Glucose
(B)
(©)

(D)

Fructose
Maltose

Sucrose

The
oxidization is yielded from :

maximum energy per gram on
(A) Fat
(B)
(®
(D)

Protein
Glycogen

Starch

............. are called as neutral lipids.

Triglycerides and waxes
Phospholipids and glycolipids
Sterols

None of the above
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13. Uifafeds tRIs H BT 2 - 13. Palmitic acid contains ............. .

(A) 14-91 WA (A) 14-C atoms
(B) 16-91 WA (B) 16-C atoms
(C) 18-¥1 WA (C) 18-C atoms
(D) 20-91 WA (D) 20-C atoms
14, g PR & Ry § 14, Fats are stored in .o part of
Hfed fobar o 2| el
(A) WxEH (o) (A) Spherosomes (oleosomes)
(B) drHH (B) Lysosomes
(C) wIECHd (C) Cytosol
(D) Sugad F4I (D) Al of the above
15. oF 9% Pl WA & : 15. Site of Kreb’s cycle is :
(A) eIl (A) Cytoplasm
(B) HISCIdIf=gdl (B) Mitochondria
(C) TARTRE (C) Chloroplast
(D) e (D) Nucleus
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16.

17.

18.

T AW A A e gN @ T
off ?

(A) BTel dABHAA

(B) formdM

(C) dSHA

(D) =AHHA

USI U9 & 91 BRE A1 fRIAEH &R
& | & WU H ST S 8

(A) feeEeEsd

(B) feTNIEEH

(C) Yfder® TR

(D) SWa ¥ ¥ I3 T

RNA # SuRed Uwelel a2

(A) Teraet
(B) Gl
(C) IsaI
(D) e
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16.

17.

18.

ATP was discovered by ............. :

Karl Lohman

(A)
(B)

Lipmann

Bowman

(©)

Blackman

(D)

Combination of a purine or pyrimidine

base with pentose sugar is known as :
(A) Nucleotides

(B) Nucleosides
Nucleic acid

(©)

None of the above

(D)

pentose sugar present in RNA

0S v, )

Galactose
Sucrose
Ribose

(©)

Fructose

(D)
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19. IR UfeiiaNgs & w0 7 19 e is known as the structural
o & polysaccharide.
(A)  Sefelret (A) Cellulose
(B) T (B) Starch
(C) gford (C) Inulin
(D) TH ¥ ® (D) More than one
20. TN H o ) WY BT § 20.  Almost all the sugars in plants are :
(A) S-TH (A) D-sugar
(B) UA-THY (B) L-sugars
(©) T (A) 3R (B) (C) Both (A)and (B)
(D) SUYd H § I el (D) None of the above

21, R & @ & 39 4 AT 21. Fischer’s formula of glucose contains

. Ay e asymmetric carbon atoms.
(A) 2 (A) 2
B 3 (B) 3
C) 4 (C€) 4
(D) 5 (D) 5
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22.

23.

24,

D AR el dhbicqd wU 4 WAl

(C) A SRICRICSY IR TRy

(D) HHY: WARICER) 3R SHCRICY

dad  H SuRed e W
ARIBVTES ¢ :

(A) T

(B) g

(C) U

(D) &I

(D) 3T TRTE
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22.

23.

24,

Glucose and fructose are optically active

and ............. )

(A) Dextrorotatory

(B)

Leevorotatory

(©)

Dextrorotatory and Leevorotatory

respectively

(D)

Leevorotatory and Dextrorotatory

respectively

Most common monosaccharides present

in the nucleus are :

(A) Trioses

(B) Tetroses
Pentoses

(©)

Hexoses

(D)

Lecithin is :

(A) Phospholipid

(B) Carbohydrate

(C) Protein

(D) Amino acid

Set-C



25.

26.

217.

AG-206
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C) Wk thre

(D) <HI (A) &R (C)
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(A)  diferRTgoT g
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(C) BT NI
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(C) M (A) 3R (B)
(D) SWad # | BIS T
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25.

26.

217.

Which of the following is a saturated

fatty acid ?

(A) Palmitic acid

(B) Oleic acid

(C) Stearic acid

(D) Both (A)and (C)

Unsaturated fats are made saturated

by :

(A) Polymerization

(B) Dehydrogenation

(C) Hybridization

(D) Hydrogenation

Vegetable oil contains high amount of

............... triglycerides.

(A) Saturated

(B) Unsaturated

(C) Both (A) and (B)

(D) None of the above
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28. S IFIW 9T 3 & - 28. The most unsaturated fatty acid is :

(A) ferrelia TRYe (A) Linoleic acid

(B) dielid TRiS (B) Oleic acid

(€) forrifa TRre (C) Linolenic acid

(D) Wifheia TRTS (D) Arachidonic acid

20. UICH @I Uifie WRE e divsd @ 29. Primary structure of protein is due to

FROBNS? e bonds.
(A) I ES (A) Peptide
(B) 8|s;§ y (B) Hydrogen
(C) -t (C) S-S

(D) SIRIRED (D) lonic

30. SRAvNYE fafhar # e a-rargd 30. The coenzyme involved in transamination

g reaction is :

(A) IRSFT BRwe (A) Pyridoxal phosphate

(B) I BISCIBIDE (B) Thiamine phytophosphate
(C) THI (A) 3R (B) (C) Both (A) and (B)

(D) JBEMD BT (D) Inorganic phosphate
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31. dMEEEyCd I Bl § 7 31.  What are carbohydrates ?

(A) TUTHETE(S® Tedlaicl (A) Polyhydric alcohol
(B) UlHdIEIdRIIeId 3+ (B) Polycarboxylic acid
(C) UldEEsRivfesess R dicH (C) Polyhydroxyaldehyde and ketone
(D) SWE ¥ | FIg el (D) None of the above
32. fmffad & & ®F-9 dEEEse b 32. Which of the following carbohydrates is
e not a sugar ?
(A) ‘T{cﬁTﬂ (A) Glucose
(B) W (B) Frutose
© W (C) Sucrose
(D) WM (D) Starch

33. fo=forfad & 9 fog Ife o1 oA 33.  Which of the following compounds gives

IS & AT el 37 <l & 2 blue colour along with iodine solution ?
(A) ¥ (A) Starch
(B) IS (B) Glucose
(C) %I (C) Fructose
(D) Il (D) Sucrose
P — s o A g 3 “ s the least sweet sugar
(A) o (A) Fructose
(B) oI (B) Sucrose
(C) e (C) Lactose
(D) oI (D) Glucose
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35, m|qﬁg|5§c SUTGT BT f~dq IAIE T 35.  What is the end product of carbohydrate

BT S ? metabolism ?

(A) CO, (@ STRRATTRS) + oIel (A) CO,+ Water

(B) i + T (B) O+ Water

(C) EIESIH + od (C) H,+ Water

(D) SUYw H H I el (D) None of the above

36. UIaNIgS & GlolelUged ¥ od &g 36. When many types of monosaccharide

molecules are obtained by hydrolysis of

UHR & ARRGUSS b A U B T,

polysaccharides, then it is called :

dl 98 BBl ¢ :
(A) THEOY HanTss (A) Homogeneous saccharides
(B) fIvwomin davgs (B) Heterogeneous saccharide
(C) TgT JanTss (C) Tetrasaccharide
(D) SUYd H § I el (D) None of the above

37. PN & STeTEed ¥ U B § 37. The hydrolysis of sucrose gives :
(A) ’?ﬁﬁﬂ SRR SN (A) Glucose and Fructose
(B) ThaCISl TRl el (B) Fructose and Lactose
(C) Tideil T Aleelo (C) Lactose and Maltose
(D) TIH AT BICK (D) Glucose and Ketose

AG-206 (13) Set-C



38. fo=foiRad d 9 &I Uleliavgs ¢ ¢ 38. Polysaccharide is right in the following :

(A) I (A) Sucrose
(B) e (B) Fructose
(©) T{cﬁlﬁ (C) Glucose
(D) et (D) Cellulose
39. SIINAR T fUar HEl o § ¢ 39. Who is the known as the father of
Biochemistry ?
(A) T gemue (A) Ban Helmont
(B) @lef W (B) Karl Newarg
© LR (C) Levosier
(D) HIghel el (D) Michael Qural
40. ool uferal @1 fosm dEddr 40. The science of endocrine glands is
3. called :
(A)  TTRHAN (A) Enzymology
(B) SUSIHISAGIGN (B) Endocrinology
(C) ilg A (C) Biochemistry
(D) FEMD TRA (D) Organic chemistry
41 ............................... w e’ﬁq aﬂ- %‘l 41. .............. are fat and Oil_
(A) TEGIISH (A) Glycolipids
(B) TRATRIES (B) Triglyceride
(C) WpIfaes (C) Phospholipids
(D) forfusw (D) Lipids

AG-206 (14) Set-C



42. Wﬁ«rﬁ@q g YoR & fortres g7 42. What type of lipids are glycolipids ?

(A) W fofued (A) Simple lipids
(B) fARa forfte (B) Compound lipids
(C) Tred ferfue (C) Derived lipids
(D) SWE ¥ | FIg el (D) None of the above
43. CTRAINIES & Soldfuee A TN 43 is obtained from the hydrolysis
o TR AT | of triglycerides.
(A) FRRIA IR T o (A) Glycerol and fatty acid
(B) ¥ 3R T (B) Fatand oil
(C) forRRia 3R WA (C) Glycerol and protein
(D) @ 3R WA (D) Fatand protein
44, “UIET vg Bl foae T o ? 44. Who gave the word ‘protein” ?
(A) T (A) Mulder
(B) uiiferad (B) Bergilius
(C) drcdd (C) Watson
(D) SUYH H ¥ Plg el (D) None of the above
45,  TEAT 37 fhdd fHTor @ gaTg B 8 P 45.  Amino acids are the units of synthesis
of :
(A) TEIRESC (A) Carbohydrate
(B) T« (B) Fat
(c) faerfa= (C) Vitamins
(D) WicH (D) Protein

AG-206 (15) Set-C



46. Th UM UCH fhad fhdidan o 46. One gram of protein provides how many

YSH FRl § 7 keal energy ?
(A) 48 (A) 48
(B) 7.2 (B) 7.2
(C) 95 (C) 95
(D) 5.6 (D) 5.6
47. idi B ale e fbe Wi &l 47. Where is the genetic information  of
397 organisms stored ?
(A) U 3% (A) Fatty acid
(B) = 3t (B) Nucleic acid
(C) THMI 3 (C) Amino acid
(D) BTgSIaRIT 37T (D) Hydroxy acid
48. Tl & =0 SuRerd & 48.  Purines are present in the following :
(A)  oTEHH (A) Thymine
(B) TsH (B) Adenine
) Fet (C) Uracil
(D) g (D) Cytosine
49. YR & GIqAveNY & folU 3M9vdd dd 49. It is an essential element for the
5. biosynthesis of proteins :
(A) N (TEgrom) (A) N
(B) Fe (3ma=) (B) Fe
(©) Mg (Hiifrm) (C) Mg
(D) Ca (dfezrym) (D) Ca

AG-206 (16) Set-C



50. Uwergs fofdol UrdT &I @ : 50. Peptide linkage is found in :

(A) AT o (A) Amino acid

(B) TefeRiel Svpsli # (B) Gycerol molecules

(C) DI U H (C) Glucose molecules

(D) ISl AT (D) Sucrose molecules
51. DNA @I €9d gfeldel W9 @ @il @ 51.  The double helical structure of DNA was

of | discovered by :

(A) T AR fhd = (A) Watson and Crik

(B) Hoex 3R guiilerdd (B) Mulder and Bergilius

(C) fae g A (C) Robert Brown

(D) SWE ¥ | TS el (D) None of the above
52. TUwllsH B & : 52. Contain enzymes

(A) STRIRAT (A) Bacteria

(B) 3r T TR (B) Amino acids

(C) WM (C) Protein

(D) dHEEESC (D) Carbohydrate

53, ‘Uilg® I Bl IR GAUH fhad 53.  Who first used the word ‘enzyme’ ?
fapa o ?

(A) I 4l TR (A) James B. Samber

(B) WeRd fdeed B (B) Frederick Bilham Kuhn
(C) MR (C) Miller

(D) T} (D) Mulder

AG-206 (17) Set-C



54. BIAU~ITgH &I U 9RT hgolldl 2 54. The protein part of the holoenzyme is

called :
(A) P-Hacy (A) Co-factor
(B) I-U~TgH (B) Co-enzyme
(C) 3MEHIT~oTgH (C) Isoenzyme
(D) THIT~ITgH (D) Apoenzyme

55. HAIY & IR # SuRerd U~IgH &1 M 55. Name the enzyme present in human

3. saliva :

(A) SITgHY (A) Zymase
(B) FwacH (B) Invertase
(C) THIZe (C) Amylase
(D) RTS (D) Urease

56. Ullgd fshdl & dTell-droll RGPl 56. Lock and Key hypothesis of enzyme

foery fem o ? action was given by :
(A) ga (A) Buchner

(B) fiher (B) Fischer

©) el (C) Koshland

(D) %& (D) Kuhn

AG-206 (18) Set-C



57. THIg Uwilgd & T 31 © 57.  The main function of amylase enzyme is :

(A) 491 Y (A) Fatdigestion

(B) FHEEISS U (B) Carbohydrate digestion
©) ICERYICE] (C) Protein digestion

O BRERERIES! (D) Mineral digestion

58. fa=forRad § ¥ @9-91 a9 fdorg faef®™ 58 Which of the following is not a fat

& soluble vitamin ?
(A) B (A) B
B A (B) A
(C) D (C) D
(D) E (D) E

59. fy=foRad § ¥ o9-91 oief fderg faerf 59.  Which of the following is not a water

T_ g7 soluble vitamin ?
(A) e (A) Niacin
(B) Nrdcifa (B) Riboflavin
(C) drafes (C) Biotin
(D) CTIBIBRIA (D) Tocopherol
60. SIC-BNICH & Wordluged ¥ i ‘v 60. How many Vitamin ‘A’ are produced by
P el T 99— gl © 2 hydrolysis of 3 -carotene ?
(A) 1 (A) 1
B) 2 (B) 2
<€ 3 (C) 3
(D) 4 (D) 4

AG-206 (19) Set-C



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.
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